
ME 1020 Engineering Programming with MATLAB  

Chapter 4a Homework Solutions: 4.3, 4.5, 4.7, 4.9, 4.10, 4.11, 4.13, 4.18, 4.21 

Problem 4.3: 

 

 

Problem 4.3: Scott Thomas 

 

total = 

 

       34925 

 

 

 

 

  



Problem 4.5: 

 

 

Problem 4.5: Scott Thomas 

Part a: z = 6 > 3 + 8 (greater than?) 

 

z = 

 

     0 

 

Part b: z = 6 + 3 > 8 (greater than?) 

 

z = 



 

     1 

 

Part c: z = 4 > (2+9) (greater than?) 

 

z = 

 

     0 

 

Part d: z = (4<7) + 3 (less than?) 

 

z = 

 

     4 

 

Part e: z = 4<7+3 (less than?) 

 

z = 

 

     1 

 

Part f: z = (4<7)*5 (less than?) 

 

z = 

 

     5 

 

Part g: z = 4<(7*5) (less than?) 

 

z = 

 

     1 

 

Part h: z = 2/5>=5 (greater than?) 

 

z = 

 

     0 

 

 

 

 

  



Problem 4.7: 

 

 

Problem 4.7: Scott Thomas 

 

x = 

 

    -3     0     0     2     6     8 

 

 

y = 

 

    -5    -2     0     3     4    10 

 

 

z = 

 

     1     1     0     0     1     0 

 

 

z = 

 

     1     1     0     0     1     0 

 

 

 

 

  



Problem 4.9: 

 

 

Problem 4.9: Scott Thomas 

 

price_A = 

 

    19    18    22    21    25    19    17    21    27    29 

 

 

price_B = 

 

    22    17    20    19    24    18    16    25    28    27 

 

 

z = 

 

     0     1     1     1     1     1     1     0     0     1 

 

 

zz = 

 

     2     3     4     5     6     7    10 

 

 

number_of_days = 

 

     7 

 



Problem 4.10: 

 

 

 

Problem 4.10: Scott Thomas 

 

price_A = 

 

    19    18    22    21    25    19    17    21    27    29 

 

 

price_B = 

 

    22    17    20    19    24    18    16    25    28    27 

 

 



price_C = 

 

    17    13    22    23    19    17    20    21    24    28 

 

Part a: 

 

zza = 

 

     2     5     6    10 

 

 

number_of_days = 

 

     4 

 

Part b: 

 

zzb = 

 

     1     2     3     4     5     6     7     9    10 

 

 

number_of_days = 

 

     9 

 

Part c: 

 

zzc = 

 

     1     3     4     7     9 

 

 

number_of_days = 

 

     5 

 

 

 

  



Problem 4.11: 

 

 

Problem 4.11: Scott Thomas 

 

x = 

 

    -3     0     0     2     5     8 

 

 

not_x = 

 

     0     1     1     0     0     0 

 

 

y = 

 

    -5    -2     0     3     4    10 

 

Part a: z = y < ~x 

 

z = 

 

     1     1     1     0     0     0 

 



Part b: z = x & y 

 

z = 

 

     1     0     0     1     1     1 

 

Part c: z = x | y 

 

z = 

 

     1     1     0     1     1     1 

 

Part d: z = xor(x,y) 

 

z = 

 

     0     1     0     0     0     0 

 

 

 

 

 

  



Problem 4.13: 

 

 

Problem 4.13: Scott Thomas 

 

price = 

 

    19    18    22    21    25    19    17    21    27    29 

 

Part (a): amount spent buying shares 

 

bought_shares = 

 

   400 

 

 

cost_bought_shares = 

 

        7300 



 

Part (b): amount received selling shares 

 

sold_shares = 

 

   200 

 

 

income_sold_shares = 

 

        5600 

 

Part (c): number of shares after 10th day 

 

number_shares_day10 = 

 

        1200 

 

Part (d): increase in value of portfolio 

 

value_increase = 

 

       15800 

 

 

 

 

 

  



Problem 4.18: 

 

 

 

 



 

 

 

 

  



Problem 4.21: 

 

 

  



Problem 4.21: Scott Thomas 

 

 

 

 

 

 


